[ZdD—D7ZTLvialyZ]

e
EE] A 4= E = — 3
B |k HNTTE | B e R
= 1T213]al5]6| % |~ &
%—JKE#EZEE SCGAErstHE) ki
e 25
8
ol B
E Eﬁ
10/ A |2 %E2D a3 A BEA | x| s
"H &
_ A
L AN DD A PPN 1435

X .3512.45 O | 1535

1o | ETEREE ) TP K|k | | B 1520
QK3DEEB -RALEDFREICRE fﬁ 32|34 ZE 1600

13|k |1 -2 = = amey ﬁ?g** K O | 1400

—H gquJJ 16N 2 1500

g . A
14| &)1 2= 2y AEd 7 o | 1400
it 2| &) b 6 1500

15/ 1 [1330-1630 L FEF/NEB (REaZSEY)

16| H
12 SEBH &

17 g @AB2 1—3 REREZERICIRS i = O | 1400
®A3 1—1 RERZERICRE Al éJJ 1500
@k5 2—2EEXEGEBEEICIRE (F%)

.ok = Bk =1

18| |1 2 =B ) .z O | 1400
@4 2—2EEFEZEBET RS (Fi) Al fEJJ 1500
R7BEE & 1400— &

1915k ®AR3 2—2EEEERICKRE S X | 1345
2EENH, SERMOEETFAMFERTA-REE L éJJ
HEAZEECHEEL>TEA

20| K|ZEH DA X
X#%B?E(U‘V’J;J{fa;ﬁ)E1*&$’Gli%§ff4’ﬁﬁ§% o8
1320—1330 IRYDE 1440

2114 11330—1350 FiEEER mie| o | KRR B|E | X
1355—1415  #%:iR %ﬁg 6|5/5|6|"7 1510
1425—1455 D) ADF

22| +

23| H




